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QUESTION 1

When determining hard disk performance, which of the following are relevant. (Multiple Choice)
A. Rotational speed,

B. Seek time,

C. Transfer time.

D. Transfer rate.

Correct Answer: ABD

QUESTION 2

For all operating systems there is a specific version of Huawei UltraPath multipathing software.
A. FALSE

B. TRUE

Correct Answer: A

QUESTION 3

Statement 1: A disk drive with a high latency performs better than a disk drive with a low latency. Statement 2: A smaller
seek time means that the disk performs better.

A. Statement 1 and 2 are true.

B. Statement 1 is true; Statement 2 is false.
C. Statement 1 is false; Statement 2 is true.
D. Statement 1 and 2 are false.

Correct Answer: C

QUESTION 4

A SAN always uses the same technology to connect to the infrastructure as a NAS.
A. TRUE

B. FALSE

Correct Answer: B
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QUESTION 5

Which of the following statements is true? (Multiple Choice)

A. A SAS disk generally has more IOPS than a SATA disk.

B. only SLC SSD are used in Enterprise level systems.

C. the realized transfer speed of SSD is higher than that of SAS.

D. SSD are cheaper than HDD because they are physically much smaller.

Correct Answer: AC
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